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Explain why 3(x + 4) = 3(x — 5) has no solution. Choose the best response below.
The x-terms are the same, but the constant terms are different.

The x-terms are different, but the constant terms are the same.

The x-terms are the same, and the constant terms are same.

The x-terms are different, and the constant terms are different.
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Enter values of @ and b for which x = 4is a solution of the equation shown.

ax+4=5c+b

—
—

a
b

Select whether each equation has no solution, one solution, or Infinitely many solutions.

No solution One solution _Infinitely many solutions
3x=3x+4 [
X +a=3x+4
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How many solutions does the equation shown have?

‘What values of a and b would make the equation shown have infi
solutions?

3x=ax+bh

‘What values of a and b, in the equation shown, willresult in an equation whose only
solutionis x = 37

(x=5)+4xr=ax+b

Solve the equation shown for x.

2x-4)=4x+3r+6





